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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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42.

41.

41.
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40.

39.
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39.

42.
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41.

40.

m=440, FV0=0
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0 -
—— W —— MW
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5 -
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0 .
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0 .
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0 .
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0 -
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0 .
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0 .
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42.

42.

41.

41.

40.

m=535, FV0=0

5&0 5&5
m=715,n FV0=0

750 7é5
m=855,n FV0=0

Bé4 866
m=1030m FV0=0
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P3-15

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

05:35 283 150.0 2.888 FH| 1Bi&@05:35 BHah (RAEREE)
06:15 283 150.0 2.888 FH| 1BRi%@06:15 Bzh (kAERESE)
08:15 283 150.0 2.888 |Z=| {Ri%e08:15 Bzl (KREAEHE)
08:50 283 150.0 2.888 [Z=| {Ri%e08:50 Bah (FEEEEE)
09:50 283 150.0 2.888 [Z=| 1Ri&e09:50 Bzh (FEEEEE)
10:40 283 150.0 2.888 |Z=| {Ri%e10:40 Bz (KREAEZHE)
11:15 283 150.0 2.888 [Z=| 1Rige11:15 Bzh (REEESE)
11:55 283 150.0 2.888 [Z=| 1®Rige11:55 Bzh (REEESE)
12:30 283 150.0 2.888 |Z=| {Ri%e12:30 Bz (REAEZEHE)
13:15 283 150.0 2.888 |/hfu| {Ri&e13:15 Bzl (REAEHSE)
13:45 283 150.0 2.888 |/hilu| {Ri&e13:45 Bzl (REAEHSE)
14:15 283 150.0 2.888 FA| {Ri&e14:15 Bz (GGRAERE)
14:45 283 150.0 2. 888 FE| 1Ri%@14:45 Bz (kBERESE)
15:15 283 150.0 2.888 [Z=| BRige15:15 Bzh (REAERESR)
16:00 283 150.0 2.888 |Z=| {Ri%e16:00 Bz (KREAEZEHE)
16:40 283 150.0 2.888 |Z=| {Rige16:40 Bz (KREAEHE)
17:15 283 150.0 2.888 |Z=| 1Ri%e17:15 Bz (RAEESR)
2it] 4811.0 (17%) 2550. 0 JEIUHKEC: 2080.0, PH: 5.6

FEREHEME STEAERST (184.0 : 147.0), AIEEAT—@E XAHE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (330:27.0), set to 330 ml.
[BI;&EC 5973.0 K15, EiINFARECAER HitER

BE[EIKRECE (1897.0 vs 5973.0) T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=70 (2025-06-09)

150 A

100 A

50

150 -

100 A

50 -

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2600
147 2208

00 Warning: lcol ['FVI',| "FVO'] missing 20

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=370, FV0=0 m=415, FV0=0 m=525, FV0=0

—8— ME 34 1 —e— ME 34 —e— ME
31 -
33 -
30 337
32 -
29 -
32 -
28 e 1
- MNE 31 -
T T T T T T T T T T T T T
400 600 800 1000 370 375 380 415 420 425 525 530 535
m=615,m FV0=0 m=670,m FVO=0 m=715,m FV0=0 m=765,m FV0=0
34 —o— ME 34 7 —o— ME 34 —o— ME 34 - —o— ME
33 - 33 1 33 - 33
. 32 .
32 _ 32 32 N
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] 31 -
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T T T T T T T T T T T T
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m=830,m FV0=0 m=865,m FV0=0 m=910,m FV0=0 m=965,m FV0=0
- MNE | 3404 - MNE | 3404 - ME - ME
i 33.5 -
33 33.5 - 33.5 1
33.0 - 33.0 - 33.0 -
327 32.5 - 32.5 -
32.5 -
32.0 - 32.0 -
31 - 32.0 -
31.5 - 31.5 -
31.0 - 31.0 - 31.5
830 835 840 865 870 875 910 915 920 965 970 975
m=1020m FV0=0 m m=370,m FV0=0 m=415,m FV0=0
34.0 - 40 1
42.0
33.5 -
39 41.5
33.0 -
41.0
32.51 38 1 40.5 1
32.0 - . —— W 40.0
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P3-15

BfiE) | GEBRTIK (B)) | ERE (EA/) | EREE(B/R) | XS EFRE

06:55 283 150.0 2.888 B 1Rige06:55 Bah (REEEE)
07:25 283 150. 0 2.888 BS| 1Ri%e07:25 B (GREMEEEE)
07:55 283 150.0 2. 888 RS {Ri&@07:55 Bz (REERSE)
08:25 283 150.0 2. 888 BE| {Ri&e08:25 B (REAEEE)
08:55 283 150.0 2.888 BE| {RRi&e08:55 B (RFEAEHE)
09:25 283 150.0 2. 888 RS {Ri8e09:25 Bzt (REAERSE)
09:55 283 150.0 2.888 B 1Rige09:55 Bah (REEEE)
10:25 283 150.0 2.888 S| Ri%@10:25 Bz (REERESE)
10:55 283 150.0 2.888 S| {Ri&e10:55 Bzh (REERSE)
11:25 283 150.0 2.888 BB Bige11:25 Bz (RPERKSE)
11:55 283 150.0 2.888 BB 1Rige11:55 Hzh (RAEHSE)
12:25 283 150.0 2. 888 e Rige12:25 Bz (REAERSE)
12:55 283 150.0 2.888 S| Rige12:55 Bz (REERSR)
13:25 283 150.0 2.888 B Rige13:25 Bz (REAERSE)
13:55 283 150.0 2.888 RS Rige13:55 Bz (REAERE)
14:25 283 150.0 2.888 B Ri%e14:25 Bz (GREERESE)
14:55 283 150.0 2.888 5| {BRige14:55 B3 (RPERKSE)
15:25 283 150.0 2.888 BS| 1Ri%e15:25 Bz (GGREEESE)
15:55 283 150.0 2. 888 e Rige15:55 Bz (REAERSE)
16:25 283 150.0 2. 888 el Rige16:25 Bl (REAEHSE)
16:55 283 150.0 2.888 BE| Rige16:55 Hal (REAEHE)
17:25 283 150.0 2. 888 B Rige17:25 Bz (REAERSE)
23t 6226.0 (22:%) 3300.0 B KEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRTF (184.0 :

ZRIAEBRIERE147.0 ml.

147.0), AlEEHT—RE XA HS

large discrepency for begining water status (369:48.0), set to 369 ml.
[ /#REC 5527.0 K&, HEiLFRECRE & IMIKERR
#ERECE (1927.0 vs 5527.0) i35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=69 (2025-06-08)

150 Fm—————F——————F——————F——————F——————F——————F——————F——————f-—————F— - T
VI, VO &RV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
2600 262653 3000 ~
100 2500 T
899 - 2000 £
50 z
L 1000 &
20 Warning: lcol [FVI',| "FVO’'] missing 00
0 + - 06
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g i - \ : 32w
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| | | [ HHE N NN N L 30
50 | EEEEEEEEEEEEEN
| N EEEEEEEEEEENE N | 98
- B EEEEEEEERENE N
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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m=385, FV0=0 m=415, FV0=0 m=495, FV0=0

—o— ME 34 1 —e— ME 34 1 —8— ME
30. 0 -
29.5 A 331 33 4
29.0 - 30
32 -
28. 5 -
31
—e— MNE | 2804 317
28 - - :
T T T T T T T T T T T T T
400 600 800 1000 385 390 395 415 420 425 495 500 505
m=550,m FV0=0 m=590,m FV0=0 m=625,m FV0=0 m=655,m FV0=0
—o— ME 341 —— we | 3407 —o— ME | 3404 —o— ME
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331 33.5 -
33 N 33 0 -
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32.0 -
32.0 -
i 31.5 -
3 31 4 31.5 A
31.0 -
T T T T T T T T T 31 ° 0 B T T T
550 555 560 590 595 600 625 630 635 655 660 665
m=690,m FV0=0 m=720,m FV0=0 m=750,m FV0=0 m=780,m FV0=0
34
—— ME | 3404 —o— ME 34 —e— ME | 3404 —o— ME
33.5 A 33.5 -
33
33.0 A 33 - 330 -
32.5 -
30 4 32.5 -
32.0 - 30
32.0 -
31.5 -
31 31.5 -
31.0 - 31
690 695 700 720 725 730 750 755 760 780 785 790
m=810,m FV0=0 m=840,m FV0=0 m=870,m FV0=0 m=900,m FV0=0
34.5 -
34.0 - —8— ME | 440 —— ME | 4, —o— ME —— ME
34.0 -
33.5 1 33.5 - 335
33.5 -
33.0 - _
33.0 33 0 -
33.0 -
32.5 A 32 5 4
' 2.5
32.5 32.5 -
32.0 - 32.0 -
32.0 - 9.0
31.5 - 31.5 -
31.5 - 315 -
810 815 820 840 845 850 870 875 880 900 905 910
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T T T T
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m=840, FV0=0 m=870, FV0=0
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T T T T T T
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Pa-15 BT | CEBEK (D) | Efes (B | ERes (5/R) | Rk= E3
06:50 283 150. 0 2.888 RS {Ri%&e06:50 B (REAEHE)
07:20 283 150.0 2.888 RS {Ri&e07:20 BHal (REAEREE)
07:50 283 150.0 2. 888 S| 1Ri%e07:50 B (RF{EEEE)
08:20 283 150.0 2.888 S| 1Ri&e08:20 Bah (FEEREE)
08:50 283 150.0 2. 888 Ag| 1RiZe08:50 B (KREEREE)
09:20 283 150.0 2. 888 BE| 1Ri%e09:20 B (KAL)
09:50 283 150.0 2.888 S| 1Ri&e09:50 Bah (FREEESE)
10:25 283 150.0 2.888 S| Ri%@10:25 Bz (REERESE)
11:00 283 150.0 2. 888 BE| Ri%e11:00 B (RF{EREE)
11:30 283 150.0 2.888 S| 1Rige11:30 Bah (GREERESE)
12:00 283 150.0 2.888 el Rige12:00 Bz (REAEHSE)
12:30 283 150.0 2. 888 BE| 1Ri%e12:30 B (RF{EREE)
13:00 283 150.0 2.888 RS Ri%@13:00 B3 (REERSR)
13:30 283 150.0 2.888 B 1Rige13:30 B3h (REEESER)
14:00 283 150.0 2.888 S| Rige14:00 Bz (REAERSE)
14:30 283 150.0 2.888 S| Ri%e14:30 B3 (REERSR)
15:00 283 150.0 2.888 B 1Rige15:00 B3h (REEESE)
15:30 283 150.0 2.888 S| Rige15:30 Bz (REAERE)
16:00 283 150.0 2. 888 S| 1Ri%e16:00 B (RF{EREE)
16:30 283 150.0 2.888 S| 1Rige16:30 Bah (GREERSE)
17:00 283 150.0 2.888 el Rige17:00 Bz (REAEHE)
17:30 283 150.0 2. 888 BE| 1Ri%e17:30 B (RF{EREE)
23t 6226.0 (22)%) 3300. 0 #UHREC: 2080.0, PH: 5.7

TERRHLER 2 STEELRTF (184.0 :

ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (371:33.0), set to 371 ml.
BEEIKRECE (1877.0 vs 5200.0) T 5




P3-15_0, Day=68 (2025-06—07)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f——————F- o]
VI, V&¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3128
- 3000
100 2500 9282
T 2200 151
- 2000
50
- 1000
48 Warning: lcol ['FVI', '"FVO'] missing 20
0 -0
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